SIGN IN

Fill in each cell of the grid with numbers from 1 to 5 such that no number
repeats in any row or column.

If the absolute difference between two digits in neighbouring cells is 1,
then they are separated by a "+" or "-" sign.

The "+" sign indicates that the digit in the left cell or upper cell is one
less than tEe digit in the right cell or lower cell. The "-" sign indicates that
the digit in the left cell or upper cell is one more than the digit in the right
cell or lower cell.

All instances of consecutive digits are shown by these signs.
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